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ECA 26+2 | 1275+245 | 78= 120= 45> . ..
ECS | 22+2 | 107.9+226 | 69= | 120= 6= ARZy 3w
ECM 212 | 117.7+206 | 78= 80= 6= ==
ECT 18+2 | 107.9+196 | 69= 100= 7= e 2 % At
ECZ | 1615 | 785 19698 | 69= 100= 9>
EGT 21+3 | 112.8+294 | 49= 80= S RARS SR T A —Ln BE
EZQ-S | 13+2 | 588=+147 100= 9= KER B IE R
WS\ —547
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B4 kg/m3 N kPa % E ) =
ER-1 35+3 | 1226+294 | 108< | 200= 5>
ER—4 | 30+3 | 98.1+294 69= 150= 5> SIS
ER—6 | 20+2 | 785+245 49= 120= 5> 7?/&%7%1?5
ER-15 | 27+2 | 1471+196 | 69= 100= 5> = 3|
ER—26 | 35+3 | 1569+196 | 69= 90= 5> EE
HR-80 | 75+10 | 5.88=(kPa) 98= Ivay
HR-90 | 85+68 | 441.3+539 | 147= 60= 3= it
ERG-M | 45+3 | 1569+196 | 69= 80= 45> AR —L4
ERG-H | 45+3 | 1765+196 | 69= 80= 45>
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IEH HRE [EES 5|aR R E [E03 [EHa5% g o g
B4 kg/m3 N kPa % E ) =
EFS 20+2 20+2 49= 200= 6= EROLSHEN Y .
EFD | 175+2 175+2 39= 100= 7= |F Pty
EFF 21+2 21+2 49= 100= 5> DIH—L4
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EMK 40+2 | 2108+392 | 98= 150= 5> BEE7yILtzT4— Datras
EMM 50+3 | 2256+392 | 98= 100= 35> |4
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IEH = TS 5|aR5EE By [E#E5% ] .
o4 kg/m3 N kPa % = R A&
EMD 50 +3-3 [29.42 +1961-981] 177= 50=
EMO 50+5 | 12.75=(kPa) | 177= 70= 4> w . N
EMS | 45+3 | 981=(kPa) | 98=< 50= 15> FREIT—L Wy Ay
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IEH = TS 5|5R5RE B [E a2 e i
B4 kg/m3 N kPa % F ) =
EGR-2 | 85+10 | 186.3+294 | 49= 100= 8> -
EGR-6H| 55+5 | 49.0+196 | 294=< | 100= 10>
EGR-40STN| 40+5 39.2+19.6 39= 120= 8= ERFEMNE-E
ESN-1 | 706 | 100.0+400 | 100= 100= = Y =V
ESN-2 | 52+5 70.0+30.0 100= 100= 7= R St
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EAM-1 | 23+2 | 98.1%+196 | 98< [ 120=< RES—ZRR a7 )
SAM-1 | 31%5 98< [ 100= T
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2% | kg/m3 N kPa % = e ik
EAS-1 | 22+2 | 981245 | 78< | 120=< sEL oL | ETEROEEH
EAS-2 | 30%3 | 117.7+294 [ 78< [ 120=< A R
EAS-3 [ 555 | 1275=(kPa) [ 177< | 70= WSz 0—)L
HPE-H | 5510 59 | 20= BMBEEMHTr—L]  ICRAN—X
HPE-F [ 8010 137< [ 150= REHEHI0SQLUT HEIv A
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